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5. Calculate the K¢ and K, of the following reaction at 400 K if 1.00 M of NOCI decomposes at
this temperature to give equilibrium concentration of 0.989 M. ( ideal gas constant R =
0.08206 L-atm/mol-K) 25

2NOCI(g) === 2NO(9) + Cl,(g)

6. What is the molality (m) of a saturated solution of caffeine (CgH1002Na), if it takes 45.6 g of
water to dissolve 1.00 g of caffeine? What is the freezing point of that solution? The
molal freezing point depression constant ks of water is 1.86 [1/m. (atomic weight: C, 12.01,
H, 1.008; O, 16.00; N, 14.01) 25



